NEY (—HRIRE)
TR _
FRTEH bl & " ,
2 A S WA | R | T R /) =
LEE  [LERLK EEIAE BRE = e BAil
e [RLimmkx o — —HER 2 i1 0z ~ 22 TR EEABAHE
bEE  [AEmtE ERE i85 12 1.1 032 ~ 20
AmE  [mem b 8/ R = 12 12 050 ~ 20
Ll |mhn SRR AR = iz o 034 ~ 28
HeimE  [ME e ; —HIRE 12 087 054 ~ 23
Heimd  [f8)il $FE —HIRE 12 0.88 028 ~ 20
dLEE =@ BEABRAE S —IETL 4 065 034 ~ 091
thE LT EBABR AR ﬁiiﬁi 6 0.98 026 ~ 2.7
£ T BB LARES —HER 6| 058 < 00w ~ 086
HemE T Seom Eai) _ﬁiiit% 6 0.87 0.56 ~ 1.1
El% e T e —IEEL 12 12 027 ~ PRIET AR 3
HbmE [k BN — IR 12 13 039 ~ 33
LmE [0k 5B — R 12 066 018 ~ 15
HEHE  |EAm T —IEEL 12 12 035 ~ 30
R |\Fmh NI ) —IEEL 12 i1 043 ~ 21
£3R @@t RERHER HHE) s i3 o b 2]
P NN i EER e 12 094 037 ~ 23| EREERRERE
EFE  [ZFm e e 12 1.1 016 ~ 20
[EHE  |[lEhEER PIlfHRE 5= —EEL 12 1.2 044 ~ 37
892 aTERSE gHE mER 12 1 038 ~ 27
= NGt NI T —REE A = ] . 025 ~ 28
T WP e el Ty T — —HER 12 13 051 ~ 35
ER  [amBEAl  |[E8BEREED —HEs 12 12 053 ~ 24
RER  [pEH LEASAER GEHE) e 12 056 026 ~ 090 F R B EE A1
ARER  RRE BEHR bRy 12 0.88 048 ~ 12| FRIeEEBEERAE
HEE A AR —RRS 12 090 030 ~ 5
PR BREH BB _ﬁﬁiétﬁ 12 0.86 027 ~ 16
Wi® g A= —HIRE 12 0.56 031 _~ 094
e HETRE —HIR 12 099 0084 ~ 22
BBE (BT BRILAR —HIR 12 0.60 0.1 ~ 10
BEE  [L\bE BiR — R 12 11 042 ~ 26
EEE  [Amm BAR — IR 12 0.95 017 ~ 51
BN [mEEE EREAREE = iz o8 028 ~ i6
B3] KET KERID _ﬁiigt% 12 0.70 020 ~ 12
[ R Hith EE3 _ﬁﬁiit% 12 11 050 ~ 30
E3 T SNET T E 11 T = 1l 084 07 ~ 14
ET Mo DR (BEE) _gﬁigii 11 13 0027 ~ 30
FWE  |HEm G R _'iigr«f: 12 094 032 _~ 18| PR IBEEREARE
HAR  |FHES 7/ I8 12 13 0068 ~ 32
AR [EAim 2 T CRE) i 12 15 062 ~ 3
AR |f5A K& = 12 14 062 ~ 24| TR CEERRARE
AR [XEAT L] it el 12 13 044~ 21
BER  [aiedh fiEER —R 12 L1 041 ~ 7
N = 12 1.5 075 ~ 29
( ABARHE —BEs C 21 14~ 31
y BEAER —hEs 8 20 14 ~ 3l
ELEAL ] 12 091 052 ~ 20
XAHER —EEs 12 10 060 ~ 16
3. BSAER e 10 14 060 ~ P
= BEEAER s 12 14 033 ~ 24
! AEHER —BEs 12 E 037 ~ 23
T S EH AR —aEE 12 15 041 ~ 23
MEEIIEE ) —hEE 12 14 035 ~ 21
3. V1| BB A E =T 12 17 081 ~ 63
% ERR T 12 18 086 ~ 70
2, O THEENE _g’;iéii 12 14 082 _~ 26
£ N0 AER e 12 18 11~ 3.0
T FeELEER ="t T 12 1.8 096 ~ 32
T LEAER —BE 12 23 080 ~ m
% RLRAER e 12 2.2 072~ 47
= EXAN) — I Eii 12 24 082 ~ 57
=S % B BHET —EEs 12 15 081 ~ 26
. KBt B— (ERAE) =T 12 15 095 ~ 26
: NG e 12 17 041 ~ I [ER I EERRANAE
y Ed ) o 12 18 12 ~ 33
£ Eih EDAR = 12 1.3 076 ~ 23
‘ Eif FEmKER = 12 22 089 ~ 58
FER _(Birm HIETD — R 12 12 048 ~ 25
TR [ I [$E 5 —#RE 12 11 032 ~ 20
FER  [mih ElE FoT —EE 12 20 055 ~ 44
FER _ [piEn HERRARE —HEA 12 22 089 ~ a7
FER  [Ln =75 —HEA 12 18 085 ~ 39
= 7 WNIY=03 el £ —HR 12 10 032 ~ 23
FEE (WFm AE— vk —ARS 12 1.7 081 _~ 34
FEE  [hhEm AFZER L] 12 16 061 _~ 29
FER  mmt RN KRS 12 15 066 ~ 34
FEE @b A=A —RRS 12 16 039 ~ 42
FER o KEEAEE = 12 20 051 ~ 38
FER A B = 12 21 064 ~ 48
FEE [hEH HREEAER _ﬁﬁigiﬁ 12 22 097 ~ 20
FER (Wi HEREE —RRS 12 15 079 ~ 27
FER  |maEm E2RAER IR 12 081 0057 ~ 19
Haf  [BK Exash L] 12 16 075 ~ 30
Bx# (BB ERRRHER = 12 19 048 ~ 16
Ba#  [AEX XEXEHAR — R 12 20 049 ~ 22
B  [HEAK BHAREELE —EE 12 23 040 ~ 51
5 ¢ AT R T —EEs 12 22 060 ~ 40
Tt heE BRI T 12 L9 Dz ~ 2 FREERGERE
R HEX s = . I ~
= EX BERABHALR —HRIBE 12 19 055 ~ §§




Rty (—RBIRER)
HREFFIR 1T S i . 3 T 444 . 3
4 e AIEH R A IR | BRI FHfE REE(ug/m’) s
(ye/m? &=/IME RXIE
IR BIRXFEHHE —HRIREE 12 20 046 ~ 37
ARIX IENXEIRD —fRIBtE 12 20 050 ~ 4.0
NEFH AEFBH —HRIREE 12 18 050 ~ 3.3
NEFH HERB —HR IR 12 20 052 ~ 5.0
N FH NEFHTAEE —HRIREE 12 1.7 047 ~ 3.0
PNt RAMTEREBE —HRIREE 12 18 040 ~ 29
78 S AR R A BEEEABRE —RRIREE 12 0.81 030 ~ 15
B |[HEMZRE BRE=HRNERE —fRIBtE 12 2.3 12 ~ 34
G ER)IEE GREH) —RRIREE 12 23 092 ~ 38| FRISEFRREARE
B IEHZEX BENERE —RRIREE 12 22 081 ~ 38
B [impRE FRREFFREELE 2B —HRIREE 12 2.1 042 ~ 4.4
B |#EET KETBEL2—F —HRIREE 12 1.7 047 ~ 38
2 |FEH EEm&AE —RRIREE 12 16 048 ~ 4.1
EES T BINER D —HRIREE 12 15 048 ~ 28
8 |#&iRm BRI EFE — IR 12 25 14 ~ 4.9
2 [NEREdH NARTEREB —HRIREE 12 12 054 ~ 1.9
2 H&FAIER —RRIREE 11 24 077 ~ 4.3
2 EXT&HE —RRIREE 12 16 076 ~ 3.6
[ ALEAER REH) —RRIREE 12 2.1 079 ~ 87| FRISEERRARE
EHAB —RRIREE 12 0.82 012 ~ 19
FE—RBRBASATER REH) —RRIREE 12 0.80 0.060 ~ 1.6| Fak18FEEREHAE
KT REIESKE —RRIREE 12 16 073 ~ 29
Elh ELEERB —RRIREE 6 0.86 063 ~ 12
#iEH £22H —RRIREE 11 0.97 051 ~ 19
gtk M ABILE —RRIREE 11 0.94 036 ~ 14
&R ERFES —HRIREE 12 0.87 027 ~ 2.0
tEm tEAER —HRIREE 12 15 055 ~ 3.2
MR IMARIER —RRIREE 12 1.2 064 ~ 20
Bl WEAER (BREE) —RRIREE 12 1.1 0.44 ~ 22| FRISEFRBARE
[i=Fidiil BHE —RRIREE 12 18 052 ~ 33
£l MAFHD —ARIREE 12 18 055 ~ 28
B Fh BABBIER —RRIREE 12 2.1 10 ~ 5.1
Et&EHET SHAER —ARIREE 12 1.9 12 ~ 5.6
bkt ABAIER —RRIREE 12 18 11 ~ 35
EHH B/ HAER —RRIREE 12 16 091 ~ 24
WA WEAERTER —HRIREE 12 12 028 ~ 28
LAH tHERFER —HRIREE 12 1.3 038 ~ 26
FiHihi BHERTER —RRIREE 12 26 081 ~ 48
R H FERERTER —RRIREE 12 1.2 037 ~ 27
EAT EABRTER(GRES) —RRIREE 12 1.1 059 ~ 24| FRISEEBEBARE
It B2 77 I B EAIER GREH) —RRIREE 12 13 078 ~ 19| K18 FEEBBHAE
It B2 7 o RBIE —RRIREE 12 0.86 054 ~ 1.3
AiEH IBAIEH R & A& —RRIREE 12 0.87 037 ~ 22
BERT BERAER —RRIREE 12 0.95 052 ~ 15
BEhERX AR/ N PRAIE B —RRIREE 11 0.84 041 ~ 1.2
AKX EERXFAIER —RRIREE 10 0.98 037 ~ 2.1
AKX BKEANFERAED —RRIREE 2 0.97 074 ~ 1.2
F e i BAT X o B BR UK 35 81 5E /B —RRIREE 4 15 076 ~ 23
A KR BKEFRE—INERBIED —RRIREE 11 11 051 ~ 1.8
F e i BA T X EHERFAEBIER —RRIREE 11 1.0 060 ~ 16
B EX EENEAERD —RRIREE 4 14 090 ~ 1.7
EM TR X JLERIER —HRIRE 12 0.95 037 ~ 22
BEHH EEHERE —HRIREE 12 1.4 079 ~ 19
Bt BN REER —HRIRER 12 2.1 15 ~ 3.9
BHTH BHRHERE —HRIREE 12 12 089 ~ 20
AFE T MFETREE (REH) —RRIREE 12 1.0 056 ~ 16| FR18EEBBHAE
AEHETTFER EHEEZTER(BRESL) —RRIREE 12 14 077 ~ 23| FRISEEBEARE
ZHEMH)IR EAXFE —HRIRER 12 19 10 ~ 29
21th pNGIE) —RRIREE 12 11 053 ~ 18
2h =] —RRIREE 12 1.0 058 ~ 1.7
FiE] 5 71 TS REt 32— —RRIREE 12 13 076 ~ 42
Z2Hh S HTESATEER —RRIREE 12 1.7 098 ~ 3.0
Z2Hh SHTPHATEER —RRIREE 12 14 078 ~ 26
ZHh EHTABATEED —RRIREE 12 1.2 073 ~ 20
Mg MERB —RRIREE 12 14 069 ~ 23
4 B LtESKE — AR 12 14 057 ~ 28
9 B A HAESRAER —HRIRER 12 15 0.66 ~ 28
HBRT WIRE R /NER —HRIREE 12 1.6 054 ~ 30
24 28 LHEKER —RRIREE 12 1.7 076 ~ 28
BET FERL ERER —RRIREE 12 14 035 ~ 24
%5 %8 BB 7 2 AT B/MARIERT GRIEH) —RRIREE 12 0.81 012 ~ 12| FRISEEBEARE
Nz il RHB(HE) —RRIREE 12 11 050 ~ 2.1
pN: il ETHHRE 22— —RRIREE 12 13 059 ~ 25
FiRM EEB —HRIREE 12 1.0 037 ~ 2.0
BiEh B2ER —RRIREE 12 1.2 052 ~ 22
a5 BEREH —HRIBEE 12 0.79 019 ~ 1.6
BRI BEIR —HRIBEE 12 1.1 046 ~ 20
R P RX TR — IR 12 12 051 ~ 25
wEILT BEANLAIER GREH) —RRIREE 12 1.2 0.060 ~ 21| FRISEERRARE
At ERA LI BT ALE —RRIREE 12 15 044 ~ 3.0
ABRATERELX EERMRE (REH) —RRIREE 12 16 060 ~ 41| FRISEEBEARE
AR FEHX EBRERE —RRIREE 12 20 039 ~ 44
PN e —RRIREE 12 18 037 ~ 3.7
RARX DHFER —RRIREE 12 15 062 ~ 35
R E X ERN=Y5) —RRIREE 12 11 043 ~ 24
WX BEEXRB —RRIREE 12 13 052 ~ 27
R X EHB —RRIREE 12 14 049 ~ 33
R Eaml) — IR 12 14 0.60 ~ 3.3
BWHERK ERRX &R —RRIREE 12 14 068 ~ 26
FE AT FEHARRNE —RRIREE 12 13 064 ~ 33| FRISEFRRAEARE




AT AIEH R A BIAH FH{E REEE(ue/mY) 5
(ye/m? &=/IME RXIE
ELi] FEB 12 24 12 ~ 45
W AT ILEBER 12 25 13 ~ 42
=M B#HEE 12 15 031 ~ 26
BiEm BIFMLHAER 12 13 048 ~ 25
kit & B 12 15 0.66 ~ 3.1
JNET NERBAFE 12 1.7 064 ~ 46
=HHKTH =AMTE&RR 12 1.7 11~ 3.1
BRFHFH BHFHRAE 12 1.7 10 ~ 33
E PN BREL2—F 12 2.1 050 ~ 4.0
P R B G SN N—=—AMELE—(REH) 12 16 079 ~ 34| FRISEFEIRRERE
T X EEMBASERRE(REH) 12 14 027 ~ 30| FRISEEBEARE
#8713 P X BEHASESRRD 12 1.3 037 ~ 29
8 e X BEEARERRD 12 1.2 038 ~ 2.1
te = = FH X RAXSESRB 12 1.7 077 ~ 32
o = T B X REASESRD 12 13 055 ~ 22
b BX T J\RAIER 12 1.7 032 ~ 32
BA T AR E L A— 12 13 028 ~ 2.9
fmEh BEh&RAE 12 2.1 090 ~ 39
AT MATHRATE 12 20 080 ~ 3.6
Tk Elrhikedsilo) 12 1.7 10 ~ 33
hod mEINE 12 14 0.56 ~ 25
i Fi ke dsilo) 12 13 048 ~ 25
=M ZHH&RAE 12 18 12 ~ 25
=20 BREFRATE 6 14 087 ~ 19
B ZRMELERERE 6 15 086 ~ 24
B BEHASERAER 12 14 076 ~ 28
KIBH EREl) 12 12 052 ~ 2.7
L B3R ER £ S BT FHFBHAREL) 12 14 054 ~ 31| FRISEFRRARE
Nkl &= ME R GREH) 12 1.3 024 ~ 30| FRISEFRRARE
Nkl RAEIR R 12 1.7 0.65 ~ 38
IE/A AIEII3a=T A~ 12 14 0.64 ~ 3.0
iEmh BT A 11 0.96 014 ~ 17
Bt EREERRERE 12 1.0 035 ~ 1.8
KFh BMEXFREFRE 12 1.2 042 ~ 19
=it BEEREHME(REE) 12 0.94 053 ~ 15| Fp18FEEREHAE
WL BRI 12 0.98 034 ~ 2.0
IR BRI D ST |EERIBIR/D GRIEH) 12 0.54 016 ~ 0.95| F 18 FEFIRIBHRAE
i (L7 SREASAER 12 20 075 ~ 38
& (L1 RBSFINERR 3 1.2 054 ~ 16
j=% il BERENR 12 22 049 ~ 3.7
il EZERRBE 12 15 049 ~ 26
LEHAERX ZBNERAIER GRITH) 12 16 046 ~ 32| FRISEFERRARE
LEEHRIER RERXEFAER 12 14 0.65 ~ 19
LEHAER FONMNERAER 12 13 050 ~ 24
S BER/ANFERE 12 1.7 078 ~ 29
S BENMNERE 12 15 058 ~ 26
fE B/DNERB 12 22 11~ 42
EVNETH RILEAENMNERE 12 1.2 041 ~ 25
TR TEMRMRRE(REH) 12 16 090 ~ 26| FRISEFRRARE
FEBH FHERNS NS E— 12 16 029 ~ 3.1
i HEMEBREEL 2 0.48 024 ~ 0.71
EEH BREfR/NERD 12 13 0.68 ~ 3.1
Bt Bmt&E 12 13 042 ~ 20
BA i T XiRB 12 0.84 0096 ~ 2.3
HREFERIL S BT EA=15) 12 0.76 017 ~ 2.2
R EF AR EE {3 AT BEH(REH) 12 1.1 053 ~ 22| FRISEFRRARE
BT EMHAANREE 12 18 080 ~ 3.0
A&t A&HERAB 12 26 11~ 48
I W &ATE 12 22 070 ~ 4.7
&I E SHT ESR&IBE 12 1.7 0.60 ~ 35
/NI o} 2 AR/ 6 1.0 047 ~ 15
FHET MEHMFH 12 1.0 046 ~ 19
fSrih P3G 12 0.68 0.26 ~ 12
EET BMEAEINER(RES) 12 0.93 030 ~ 16| Fk18FEEREHAE
Al BIRE RIEFT S 12 1.0 031 ~ 2.1
=) EBL D ET BHARTER 12 11 050 ~ 2.1
dtamd/hEEE [HREHRIE 12 13 047 ~ 35
EREHEE BB 12 14 089 ~ 2.1
B R X Bl 12 16 11~ 26
B HiE 2 X Eodo) 12 18 11~ 29
P EHEAEAR(REE) 12 25 10 ~ 42| FRISEFRBARE
1l GO AFEE— 12 18 10 ~ 27
RigH RER 12 1.9 12 ~ 26
i EEB 12 0.81 037 ~ 15
fitl EZH 12 0.89 040 ~ 19
H BB 12 0.94 044 ~ 16
FHEEH AiPH 12 0.63 030 ~ 12
kiti N EXEE 6 1.0 036 ~ 23
T R —fAKIRBAIERD (RIRH) 12 1.7 064 ~ 39| FRISEFRRARE
RS ST R 12 13 050 ~ 22
i Pk R EUAIFT 12 1.2 045 ~ 28
Eh E &>t B RAIER GREH) 12 0.88 025 ~ 17| Ep 18 FEEREHAE
Ll XTI Rt 22— 11 22 13 ~ 38
Ll ARREHME 12 18 052 ~ 35
gitl EFFRERAER 12 18 077 ~ 3.1
H BARBERRBEA L 2— 12 16 045 ~ 3.0
Ll THATAFRE X REH) 12 1.0 025 ~ 22| FRISEFRRARE
i FEEHESAEREREBU L I—FIEEEEULE 12 1.4 029 ~ 33
i BRI R E A 12 0.96 045 ~ 17
i BREER 12 1.0 051 ~ 19




o€y (—RIRLE)
HEHR it A AL S | RA% | TE " ;
2 p:l ME REEHE(ue/m) "%

(ye/m? &=/IME RXIE

ERSR [ERS™ BEREE 2—RER(BEE) —ARIRLE 12 1.4 052 ~ 27| FRISEERELAE

EREE |[ERESM & B —HRIREE 12 15 061 ~ 34

EREE |EBET HREREBREHER —HRIREE 6 1.2 019 ~ 1.8

BEREE |[BEBTh ER R RARED —HR IR 6 1.0 024 ~ 1.5

h#BR ET BEFh P RAE —HRIREE 12 0.99 040 ~ 2.9

BT mh FEBBMERD —HRIREE 12 0.40 0089 ~ 0.87

RS ESEEEEEEET] [ &% 320 = W & 14 R B 78 P —HEIRE 12 0.44 0030 ~ 11 FRIBEEREHNRAE




ROy (RERRED)
HREFFIR T . o : T - 3
4 e AIEH R A IR | BRI FHfE REE(ug/m’) s
(ye/m? &=/IME RXIE
ALIRH X Fipi b Sidvil 12 15 079 ~ 27
EXiin et X R E B 12 23 016 ~ 6.5
NG B/IENER 12 0.92 023 ~ 20
PNk BENERE (REH) 12 1.2 045 ~ 29| FRISEFERRARE
WETEBTX FEHE 12 0.93 015 ~ 26
il FER 12 15 058 ~ 37
LWhE INEGEEIBTR (REBE) 12 13 037 ~ 24| FRISEEIRBARE
LWhE THE 12 14 061 ~ 3.6
REIBT BEUB F 3 (FAIEH) 12 12 K 00015 ~ 3.2
fLLiinl FAFE 12 2.1 038 ~ 5.0
fLLiinl AR TR 11 16 041 ~ 5.4
FEET HRENER 12 1.2 040 ~ 22
AL BRERRELt 22— 12 16 054 ~ 34
EhEh RH/PNER 12 15 048 ~ 29
PRl EIERNG] 12 0.78 036 ~ 1.6
E3ii T XM NE 12 1.6 0.94 ~ 26
FERPRE FEMBESRREH) 12 3.3 090 ~ 10| FRISEERBERE
FEHRRX EYNCED 12 2.1 086 ~ 5.4
FREmPRE fBIEF 12 23 076 ~ 6.6
il HREBTER 12 27 10 ~ 9.2
it} NERER 12 23 076 ~ 39
i Lt EHRIER 12 2.1 10 ~ 33
gl EETHRER(RRAE) 12 1.7 030 ~ 45| FRISEFRBARE
J i ERER 12 24 067 ~ 4.4
BRXAEZNERATER (REH) 12 20 049 ~ 44| FRISEFRBARE
FREKE 12 23 14 ~ 35
BERBAXRISVE 12 25 1.3 ~ 43
N AT X KEMBEISVF R 12 26 12 ~ 43
wART BETBE S5 12 1.9 0.68 ~ 4.3
iR J\BB/NERR 12 16 057 ~ 28
ES54 EFhKiEBARARKE 12 16 0.60 ~ 32
FrimmdtX WERERE 12 0.95 042 ~ 17
et 35 12 1.0 050 ~ 17
[kt pNGIE) 12 1.2 067 ~ 29
L BEEER 12 1.0 042 ~ 2.1
okl HER 12 0.77 031 ~ 13
=T BRERARE 11 0.90 040 ~ 1.6
AT RER 12 14 052 ~ 29
wFHH =ER 12 1.1 043 ~ 20
R WREB T EBREEFRREH) 12 1.2 076 ~ 36| FRISEFERRARE
& £ 1 (D EEIERRERD 12 14 078 ~ 26
ZHEHEX BB 12 20 084 ~ 3.1
ZHETRX BK/NERE 12 1.9 10 ~ 29
FHH FTHTEEORB 12 16 039 ~ 3.0
wimth A HETE 12 20 082 ~ 34
mHEfH ZRNERBIER GRIRH) 12 1.9 094 ~ 32| FRISEFRRARE
AEaT T e ety O A 12 1.1 058 ~ 2.1
FEHHREX FRERR T 15 12 1.4 047 ~ 3.2
ABRHHERX BE/NERE 12 20 037 ~ 42
ABRHAER TFENERE 12 1.9 0.65 ~ 42
B REFR (RIEA) 12 26 11~ 46| FRISEFRBARE
BHFEX EER 12 15 0.56 ~ 34
RHEEX EFNE 12 15 062 ~ 3.6
RREM RREHEFRE 12 15 059 ~ 33
HE K HIEA SAERAIRT 12 1.7 062 ~ 28
PTG BB 12 1.9 0.58 ~ 29
aib EEtt2— 12 1.9 077 ~ 35
AFERL T ERLLIBRF] KIS 12 13 053 ~ 26
AHT AHRTHEARER 11 12 K 00028 ~ 26
WiTmh T % M #h F50 12 1.3 0.61 ~ 24
e REPRNREGREH) 12 1.0 036 ~ 15| Fpk18FEEREHAE
& (L 1 FREARAER 12 22 077 ~ 38
j=% Gl WIE 12 45 043 ~ 9.4
j=% Gl BER 12 29 033 ~ 7.0
j=% il A=l 12 26 037 ~ 5.2
j=% Gl ZERHHE 12 1.7 037 ~ 29
EHH EHmIALTRE S— 12 1.6 070 ~ 25
ZRE REARBERD 12 24 072 ~ 4.7
LEHER ok e 12 14 071 ~ 20
TR TERERE 12 15 066 ~ 28
&t B/NERE 12 22 10 ~ 3.7
Jokaakith it tEit R4 12 15 0.66 ~ 28
A AMiHRAER 12 1.2 048 ~ 27
I BEER 12 34 070 ~ 11
HEET FHE 12 24 0.96 ~ 3.9
{3 ERAARITRT MET—RBREASAER REH) 12 18 057 ~ 49| FRISEFRBARE
JEAmd/\BAER [RIBEADREE) 12 22 071 ~ 40| FRUISEFRBARE
JEAMERR BN b ) 12 2.1 076 ~ 45
M/ R |dEAMERS 12 25 0041 ~ 9.9
AZHETH NKRER GREE) 12 1.7 041 ~ 30| FRISEFERRARE
AEHAH AR 12 15 056 ~ 22
AZHETH ti#B 12 16 037 ~ 3.1
AEHAH =SB 12 14 034 ~ 27
AZHETH iz 12 15 041 ~ 24
AE T ERKERERE 12 14 043 ~ 23
ABKTH ABRT RS 12 1.7 083 ~ 26
PNt SENERAER 12 20 075 ~ 29
Anh RARANERATER 12 22 046 ~ 4.2
FERE EREREAD 12 0.93 038 ~ 16




oty (BiE)

HREFFIR 1T S i . 3 T 444 . 3
4 e AIEH R A 58 | BRIAE Fi9iE REEE(ue/mY) 5
(ye/m? &=/IME RXIE
ALIRF R X EREI=E: 5] E 12 18 12 ~ 26
EXiin R X ATER BB 6 0.99 037 ~ 19
Bah BHXIT BB 6 13 095 ~ 1.8
EUN i AHB E 12 0.99 029 ~ 27
E&h BEHRETR BB 12 18 081 ~ 35
Baom BT E 12 14 048 ~ 25
E =] BAET S BB 12 14 084 ~ 27
—Bih —Eh=RAR BB 12 1.7 084 ~ 28
WETRE RGAIERGRES) E 12 1.7 10 ~ 29| FRISEERRARE
WERERR HiER BB 12 1.9 094 ~ 4.4
2 B ZIMEEEHHARAER AE 12 20 13 ~ 3.2
FETH BHXER iE 12 14 080 ~ 20
BFh [ E3=E: 3] BB 12 1.1 045 ~ 26
A I ANTESS] BB 12 1.1 038 ~ 19
wEM BTEATE BB 12 1.3 085 ~ 24
LWhE EH E 12 15 035 ~ 3.3
E i E Ll BB 12 14 018 ~ 29
LT FRETRZE R B BB 12 27 13 ~ 4.1
BT FRIBEHE iE 12 1.2 060 ~ 3.0
fE# T EMBEHR (REE) iE 12 25 11 ~ 53| TERISEEBIELARAE
SW-FTEKK |AEREHFAER E 12 14 037 ~ 24
SV -FHARK ZEaHAER E 12 18 073 ~ 28
SWV-FHERE A B HERIER E 12 18 038 ~ 29
Ji#g N T LR RIE B iE 12 20 12 ~ 7.1
ngm O iR AIE B BB 12 22 13 ~ 4.1
FriR ™ My RAIED BB 12 22 11 ~ 35
EiGi EMEEEHR BB 12 20 12 ~ 3.1
FHT FHEXABHE BB 12 1.9 094 ~ 3.6
FERERIIR EHABBHEHHAR E 12 20 081 ~ 5.5
FERPRE FEM &R (EH) BB 12 25 11 ~ 5.1
il HARTER iE 10 1.9 080 ~ 29
ichil A=k ) BB 12 18 072 ~ 4.1
Nadit] NFERBE BB 12 24 12 ~ 4.4
A1 BRI TE & E 12 24 069 ~ 5.8
A1 XErEAER E 12 1.9 078 ~ 38
FHRAKX BHEARERE iE 12 25 083 ~ 6.1| FRISEFRRERE
TERX REEREFH BB 12 23 054 ~ 4.0
AHKX BREtRBYNERER E 12 4.0 12 ~ 6.9| FRISEFIRIBANE
HHEAAX BR/NBY/\BILE AE 12 3.0 14 ~ 4.9
[ERi e ¥ XEER BB 12 34 18 ~ 6.0
HETFIER FEREXRIEZRB BB 12 27 16 ~ 49
DN 7 ) 108§ X b F AR E 12 32 12 ~ 5.3
iR HEHDNFERE BB 12 20 082 ~ 38
iR BiRIBE BB 12 35 19 ~ 5.3
A#0h ANTRERERERRB BB 12 24 11 ~ 45
i X EVCEE ) E 12 1.1 023 ~ 26
KRt Wil B HES BB 12 16 086 ~ 25
Elth BEEHARAEREILERGEGEEH) BB 12 1.7 082 ~ 26| FRISEFERRARE
gtk IMEBER BB 11 0.88 042 ~ 1.4
£iRt BIB BB 12 1.0 037 ~ 24
A1 BREF < T FARmAER BB 12 24 14 ~ 3.9
T BHFER BB 12 18 052 ~ 3.3
R i1 BrEBEFIRE E 12 28 21 ~ 5.9
EHH SREH B BB 12 18 10 ~ 3.1
WA AT EXZAR E 12 1.4 046 ~ 34
It B2 77 BEAIER BB 12 14 094 ~ 28
it it ke dsis aE 12 1.1 055 ~ 2.1
BEhERX BHMARER BB 3 18 15 ~ 2.3
B mIEKE BH#MBAAER BB 11 15 060 ~ 2.3
EMTH R R-257 I B BB 12 24 12 ~ 35
=8m BH=ER AE 12 25 18 ~ 37
ZEHETRK EXET) E 12 20 11 ~ 3.0
ZHEMILX L FKREBLEERD BB 12 22 12 ~ 34
2th SR BB 12 0.94 074 ~ 13
FiE] 5 71 fiE] 5 77 58 = K SURITE AT BB 12 1.9 11 ~ 4.1
ek EHmEL 22— E 12 1.9 13 ~ 3.0
EXcihin FERTNFR BB 12 14 090 ~ 22
R TRRm&AE BB 12 1.9 083 ~ 3.3
BELER R &AL REEBHEHSTRUES (BEH) E 12 1.6 069 ~ 28| FRISEFIRBARE
thEe T E&E235 #5FE BB 12 26 14 ~ 4.9
EE i BHEER BB 12 22 11 ~ 3.6
AT IILEX BHBWLED BB 12 1.7 069 ~ 29
RHTHRERX BHBREXER BB 12 24 16 ~ 3.6
Fath EE245H BB 12 2.1 099 ~ 35
J\t& EE15R BB 12 1.9 094 ~ 35
Z EIER A LWy BT EE171865 E 12 17 087 ~ 27
ABRHFE )X HiE B /NERE E 12 25 062 ~ 47
PN EA BHEINER BB 12 28 079 ~ 6.3
R X FERE AE 12 2.1 11 ~ 4.1
ELi] A E BB 12 3.1 20 ~ 4.8
W PEEREE: Sakis) BB 12 35 20 ~ 6.1
=T BWT&RE BB 12 18 099 ~ 37
sEOh RINTESED BB 12 24 10 ~ 3.7
S akit] BB BB 12 18 092 ~ 3.8
NET AFER BB 12 27 11 ~ 5.8
MR WRILNERE E 12 2.5 11~ 6.5
=Aah HEF—ILMBSH E 12 20 092 ~ 4.9
PNt BEHERER B BB 12 28 071 ~ 45
o {E B ES BB EEAIE R (BEE) aE 12 27 15 ~ 6.4| FRISEFIRRARE
i B X REABBEERE iE 12 15 057 ~ 27




o€y (hiE)

WERR FEsh A AL WSS | BH | O BERE (L g/m) i
(ye/m? &=/IME RXIE

EER fmEh BFER BB 12 23 11 ~ 45

EER wET EHB BB 12 22 096 ~ 4.0

EER EEm ENNERR BB 12 1.7 11 ~ 26

ZRE ERT BHERE BB 12 20 11 ~ 3.6

MPLE [EHHE BB HRAHE S H A SR E 8 1.2 048 ~ 24

BIE Bl KERZERBD BB 12 1.9 072 ~ 3.1

BIE KFh RFH AR BB 12 14 048 ~ 23

BiRE WiTmH EEABHR BE 12 24 10 ~ 4.9

[ETNIT LT BAHEBEHIRAER AE 3 2.1 11~ 26

] LU IR j=% il ABAERGREL) E 12 3.0 12 ~ 51| FRISEFRRARE

] LU IR EREA T SET REASAER AE 12 1.9 085 ~ 35

INET LEHER HAWLAIER B 12 1.8 095 ~ 2.3

=T =R ZREAHHE BE 12 20 12 ~ 3.2

INET =i RILTH &R e 12 28 15 ~ 5.0

BEEE weh BHREH E 12 1.7 063 ~ 28

EIIE F=tNIH EMAER BB 12 24 11 ~ 37

N2 R BEKEFLERTHGEER) E 12 25 083 ~ 46| FRISEFRRARE

=HE =T L) BB 12 15 095 ~ 2.1

&R R JEAMAT/\BERX | FEARRAIERT BB 12 3.3 11 ~ 5.5

=EE JEAMPIEIX P9 =) 81 % AR B 12 1.4 046 ~ 35

=EE EETEZX HEEBESARANER BES) E 12 35 25 ~ 50| FRISEEBIELRAE

1ERE R EEHERK B BB 12 1.9 10 ~ 29

&R R AEHAT ERBE BB 12 11 047 ~ 19

1ERE R A )11 B8R & & BT EEEHE BB 12 24 13 ~ 4.3

EEE Bifim BIRIGH (REH) iE 12 1.9 097 ~ 40| FRISEFRIBERE

RIBE RIBH RGBT &AE E 6 2.1 13 ~ 25

RIBE RS BEAER E 12 22 13 ~ 34

RIBE R T EE34S 4RI B R E F 3B N TR BB 12 14 060 ~ 24

RIFE R T 38345 #3155 1R B 2R A AR 38 @ A B BK AT AE 12 20 11~ 3.0

EXR AT KERH BB 11 29 16 ~ 4.8

EXR AT #HKAET B BB 11 3.0 17 ~ 4.7

EXR I\ IR TG BB 12 14 070 ~ 26

ARDE Anh BRI EHHAREERAER E 12 32 23 ~ 5.7

AR Anh BB EHHARPRAED E 12 3.3 16 ~ 5.1

KHE B AFT JLiEpfR Ti5 E 12 2.0 0.65 ~ 4.7

AR BRAHT EAERAIEER E 12 1.7 037 ~ 3.7

EIRFER ki kBB E 12 16 10 ~ 3.1

BIR BEEE) | AT NESIE] BB 6 1.9 13 ~ 26

BIR & B ARy B BT MR E 6 15 065 ~ 19

IPERR HFT WER E 12 1.7 081 ~ 34

PERR P il HIER B 12 1.9 039 ~ 4.7






